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6. �5D47>64F5?L=O5 F5E=>?>7<< 

�?O 4>EF<65=<O ?4=<DG5<OE D57G?LF4F>6 >E6>5=<O 4<EF<??<=O, <E?>?L7GNFEO D47?<G=O5 

>5D47>64F5?L=O5 F5E=>?>7<<:  

� FD44<F<>==O5 ?5>F<< < ?D4>F<G5E><5 (E5<<=4DE><5) 74=OF<O 6 D>D<5 E 

<E?>?L7>64=<5< E>6D5<5==OE <=F5D4>F<6=OE F5E=>?>7<=; 

� >=?4==-E5<<=4D 3 D47=>6<4=>EFL 655->>=D5D5=F<<, ?D>6545=<5 >=?4==-6EFD5G <?< 

?D575=F4F<= G5D57 �=F5D=5F 6 D56<<5 D54?L=>7> 6D5<5=<. �464O= <7 GG4EF=<>>6 =4E>4<FEO G 

E6>57> >><?LNF5D4 (ED54EF64 E6O7<), 4 E6O7L <564G =<<< ?>445D6<645FEO G5D57 �=F5D=5F 

?>ED54EF6>< 747DG645<>7> ?D<?>65=<O, GEF4=>6?5==>7> =4 >><?LNF5D5 >464>7> GG4EF=<>4 (Meet, 

Skype < 4D.); 

� 6<45>>>=D5D5=F<O 3 E54=E 6<45>>>=D5D5=FE6O7< (��%) 3 MF> F5E=>?>7<O <=F5D4>F<6=>7> 

674<<>45=EF6<O 46GE < 5>?55 GG4EF=<>>6 >5D47>64F5?L=>7> ?D>F5EE4 4?O >5<5=4 <=D>D<4F<5= 6 

D54?L=>< D56<<5 6D5<5=<; 

� F5E=>?>7<O M?5>FD>==>7> >5GG5=<O (D54?<7G5FEO ?D< ?><>M< M?5>FD>==>= 

>5D47>64F5?L=>= ED54O %��' ?D< <E?>?L7>64=<< D5EGDE>6 -�%, ?D< ?D>6545=<< 

46F><4F<7<D>64==>7> F5EF<D>64=<O < F. 4.).  

�D<<5G4=<O  

�E5 6<4O GG55=>= D45>FO <>7GF ?D>6>4<FLEO 4<EF4=F<>==> =4 >E=>64=<< ?>>4?L=OE 

=>D<4F<6=OE 4>F>6. 

� F5?OE D54?<74F<< <=4<6<4G4?L=>7> ?>4E>44 > >5GG5=<N EFG45=F>6, >EGM5EF6?ONM<E 

GG55=O= ?D>F5EE ?> <=4<6<4G4?L=>= FD45>F>D<< 6 D4<>4E <=4<6<4G4?L=>7> D45>G57> ??4=4, 

<7GG5=<5 44==>= 4<EF<??<=O <>65F >EGM5EF6?OFLEO G5D57 <=4<6<4G4?L=O5 >>=EG?LF4F<< 

?D5?>4464F5?O >G=>, 6 G4EO >>=EG?LF4F<=, ?> M?5>FD>==>= ?>GF5, 4 F4>65 E <E?>?L7>64=<5< 

??4FD>D<O 4<EF4=F<>==>7> >5GG5=<O Moodle, ?<G=O= >45<=5F EFG45=F4 =4 E4=F5 %��', 4DG7<E 

M?5<5=F>6 -��% %��'. 

 
7. 'G55=>-<5F>4<G5E>>5 >55E?5G5=<5 E4<>EF>OF5?L=>= D45>FO 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO O6?O5FEO >4=<< <7 6<4>6 GG55=OE 74=OF<=. 

%4<>EF>OF5?L=4O D45>F4 ?D>6>4<FEO E F5?LN:  

- E<EF5<4F<74F<< < 74>D5??5=<O ?>?GG5==OE F5>D5F<G5E><E 7=4=<= < ?D4>F<G5E><E G<5=<= 

>5GG4NM<EEO EFG45=F>6;  

- G7?G5?5=<O < D4EL<D5=<O F5>D5F<G5E><E 7=4=<=;  

- D>D<<D>64=<O G<5=<= <E?>?L7>64FL =>D<4F<6=GN, ?D46>6GN, E?D46>G=GN 4>>G<5=F4F<N < 

E?5F<4?L=GN ?<F5D4FGDG;  

-D>D<<D>64=<O E4<>EF>OF5?L=>EF< <OL?5=<O, E?>E>5=>EF5= > E4<>D476<F<N, 

E4<>E>65DL5=EF6>64=<N < E4<>D54?<74F<<;  

- D476<F<O <EE?54>64F5?LE><E G<5=<=.  

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO >EGM5EF6?O5FEO =4 ?D>FO65=<< <7GG5=<O 6E5= 

4<EF<??<=O 6 E>>F65FEF6<< E GF65D645==>= 6 GG55=>< ??4=5 FDG4>5<>>EFLN < E>EF><F <7: 

- D45>FO EFG45=F>6 E ?5>F<>==O<< <4F5D<4?4<<, ?><E>4 < 4=4?<74 ?<F5D4FGDO < M?5>FD>==OE 

<EF>G=<>>6 <=D>D<4F<< ?> 7444==>= F5<5; 

- 6O?>?=5=<O 7444=<= 4?O E4<>EF>OF5?L=>= D45>FO 6 -��% %��'; 

- <7GG5=<O F5>D5F<G5E>>7>, ?D46>6>7> < EF4F<EF<G5E>>7> <4F5D<4?4 4?O ?>47>F>6>< > 

E5<<=4DE><< 74=OF<O< < =4?<E4=<N >GDE>6>= D45>FO (?D< =4?<G<< 6 ??4=5); 

- ?>47>F>6>< > 74G5FG. 

&5<O < D>D<O 6=54G4<F>D=>= E4<>EF>OF5?L=>= D45>FO, 55 FDG4>U<>>EFL E>45D64FEO 6 

D4745?4E 44==>= $��.  
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�5F>4<G5E><5 D5>><5=44F<< ?> =4?<E4=<N D5D5D4F>6 

$5D5D4F 4 ?<EL<5==4O D45>F4 ?> >?D545?5==>= =4GG=>= ?D>5?5<5, >D4F>>5 <7?>65=<5 

E>45D64=<O =4GG=>7> FDG44 <?< =4GG=>= ?D>5?5<O. �= O6?O5FEO 45=EF65==>= D>D<>= 

E4<>EF>OF5?L=>7> <EE?54>64=<O =4GG=OE ?D>5?5< =4 >E=>65 <7GG5=<O F5>EF>6, E?5F<4?L=>= 

?<F5D4FGDO, 4 F4>65 =4 >E=>65 ?<G=OE =45?N45=<=, <EE?54>64=<= < ?D4>F<G5E>>7> >?OF4. $5D5D4F 

?><>745F 6OD45>F4FL =46O>< < ?D<5<O E4<>EF>OF5?L=>7> =4GG=>7> ?><E>4, 7D4<>F=>7> < ?>7<G5E>>7> 

<7?>65=<O <75D4==>= ?D>5?5<O < E?>E>5EF6G5F ?D<>5M5=<N EFG45=F>6 > =4GG=>= 45OF5?L=>EF<. 

�>E?54>64F5?L=>EFL D45>FO: 

1. �O5>D F5<O <EE?54>64=<O. &5<4 D5D5D4F4 6O5<D45FEO EFG45=F>< =4 >E=>65 57> =4GG=>7> 

<=F5D5E4. &4>65 ?><>ML 6 6O5>D5 F5<O <>65F >>474FL ?D5?>4464F5?L. 

2. �?4=<D>64=<5 <EE?54>64=<O. �>?NG45F E>EF46?5=<5 >4?5=44D=>7> ??4=4 =4GG=>7> 

<EE?54>64=<O < ??4=4 ?D54?>?4745<>7> D5D5D4F4. �4?5=44D=O= ??4= <EE?54>64=<O 6>?NG45F 

E?54GNM<5 M?5<5=FO: 6O5>D < D>D<G?<D>64=<5 ?D>5?5<O, D47D45>F>4 ??4=4 <EE?54>64=<O < 

?D5464D<F5?L=>7> ??4=4 D5D5D4F4; E5>D < <7GG5=<5 <EE>4=>7> <4F5D<4?4, ?><E> ?<F5D4FGDO; 4=4?<7 

E>5D4==>7> <4F5D<4?4, F5>D5F<G5E>4O D47D45>F>4 ?D>5?5<O; E>>5M5=<5 > ?D5464D<F5?L=OE 

D57G?LF4F4E <EE?54>64=<O; ?<F5D4FGD=>5 >D>D<?5=<5 <EE?54>64F5?LE>>= ?D>5?5<O; >5EG645=<5 

D45>FO (=4 E5<<=4D5 < F. ?.). 

�?4= D5D5D4F4 E4D4>F5D<7G5F 57> E>45D64=<5 < EFDG>FGDG. �= 4>?65= 6>?NG4FL 6 E55O: 

66545=<5, 745 >5>E=>6O645FEO 4>FG4?L=>EFL ?D>5?5<O, EF46OFEO F5?L < 7444G< <EE?54>64=<O; 

>E=>6=4O G4EFL, 6 >>F>D>= D4E>DO645FEO E>45D64=<5 ?D>5?5<O; 74>?NG5=<5, 745 >5>5M4NFEO 6O6>4O 

?> F5<5 < 44NFEO ?D4>F<G5E><5 D5>><5=44F<<. 

3. �><E> < <7GG5=<5 ?<F5D4FGDO. �?O 6OO6?5=<O =5>5E>4<<>= ?<F5D4FGDO E?54G5F >5D4F<FLEO 

6 5<5?<>F5>G <?< > ?D5?>4464F5?N. �>4>5D4==GN ?<F5D4FGDG E?54G5F 74D<>E<D>64FL E>7?4E=> ��%& 

?> 5<5?<>7D4D<G5E>><G >?<E4=<N ?D><76545=<= ?5G4F<. 

�?O D47D45>F>< D5D5D4F4 4>EF4F>G=> <7GG5=<5 4-5 646=5=L<E EF4F5= ?> <75D4==>= ?D>5?5<5. 

�D< <7GG5=<< ?<F5D4FGDO =5>5E>4<<> 6O5<D4FL <4F5D<4?, =5 F>?L>> ?>4F65D644NM<= ?>7<F<N 

46F>D4 D5D5D4F4, => < <4F5D<4? 4?O ?>?5<<><. 

4.�5D45>F>4 <4F5D<4?4. �D< >5D45>F>5 ?>?GG5==>7> <4F5D<4?4 46F>D 4>?65=: 

E<EF5<4F<7<D>64FL 57> ?> D4745?4<; 6O46<=GFL < >5>E=>64FL E6>< 7<?>F57O; >?D545?<FL E6>N 

?>7<F<N, F>G>G 7D5=<O ?> D4EE<4FD<645<>= ?D>5?5<5; GF>G=<FL >5N5< < E>45D64=<5 ?>=OF<=, 

>>F>DO<< ?D<E>4<FEO >?5D<D>64FL ?D< D47D45>F>5 F5<O; ED>D<G?<D>64FL >?D545?5=<O < >E=>6=O5 

6O6>4O, E4D4>F5D<7GNM<5 D57G?LF4FO <EE?54>64=<O; >>>=G4F5?L=> GF>G=<FL EFDG>FGDG D5D5D4F4. 

5. �D>D<?5=<5 D5D5D4F4. �D< >D>D<?5=<< D5D5D4F4 D5>><5=4G5FEO ?D<45D6<64FLEO 

E?54GNM<E ?D46<?: %?54G5F ?<E4FL ?<LL F>, G5< 46F>D E>G5F 6OD47<FL EGM=>EFL ?D>5?5<O, 55 

?>7<>G; �<E4FL EFD>7> ?>E?54>64F5?L=>, ?>7<G=>, 4>>474F5?L=> (?> EE5<5: F57<E 3 >5>E=>64=<5 3 

6O6>4); �<E4FL OD>>, >5D47=>, 6<6>, =5 F>?L>> 6E>DO64O <EF<=G, => < >FD464O E6>N ?>7<F<N, 

?D>?474=4<DGO ?>?GG5==O5 D57G?LF4FO; �<E4FL >E<OE?5==>, E>5?N44O ?D46<?4 7D4<<4F<><, =5 

7?>G?>FD55?OO =4G>>>5D47=O<< 6OD465=<O<<. 

$5D5D4F 6O?>?=O5FEO 6 E>>F65FEF6<< E FD55>64=<O<< EF4=44DF>6, D47D45>F4==OE 4?O 44==>7> 

6<44 4>>G<5=F>6. $45>F4 4>?6=4 5OFL 6O?>?=5=4 =4 55?>= 5G<475 EF4=44DF=>7> ?<EF4 �4. &5>EF 

4>?65= 5OFL >F?5G4F4= =4 >><?LNF5D5 6 F5>EF>6>< D544>F>D5 MicrosoftWord < >F65G4FL E?54GNM<< 

FD55>64=<O<: ?4D4<5FDO ?>?5= EFD4=<F 4>?6=O 5OFL 6 ?D545?4E: 65DE=55 < =<6=55 3 ?> 20 <<, 

?D46>5 3 10 <<, ?56>5 3 30 <<, LD<DF 3 TimesNewRoman, D47<5D LD<DF4 3 14, <56EFD>G=O= 

<=F5D64? 3 ?>?GF>D=O=. �5=F4 ?D<=F5D4 3 F>?L>> GUD=>7> F65F4. �G<5D4F<O EFD4=<F 6 D5D5D4F5 

4>?6=4 5OFL E>6>7=>=, =4G<=4O E FD5FL5= EFD4=<FO. �><5D ?D>EF46?O5FEO 4D45E><<< F<DD4<< 

665DEG >464>= EFD4=<FO E?D464. 

�D< <7?>65=<< <4F5D<4?4 =5>5E>4<<> ?D<45D6<64FLEO ?D<=OF>7> ??4=4. 

�<5?<>7D4D<G5E><= E?<E>> E>EF46?O5FEO =4 >E=>65 <EF>G=<>>6, >>F>DO5 5O?< ?D>E<>FD5=O < 

<7GG5=O EFG45=F>< ?D< =4?<E4=<< D5D5D4F4. �4==O= E?<E>> >FD4645F E4<>EF>OF5?L=GN F6>DG5E>GN 

D45>FG EFG45=F4, GF> ?>76>?O5F EG4<FL > EF5?5=< 57> ?>47>F>6>< < G7?G5?5=<< 6 6O5D4==GN 

F5<4F<>G. �EO <E?>?L7>64==4O ?<F5D4FGD4 D47<5M45FEO 6 E?54GNM5< ?>DO4>5: 74>>=>44F5?L=O5 4>FO, 
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?>EF4=>6?5=<O, =>D<4F<6=O5 4>>G<5=FO; 6EO GG55=4O ?<F5D4FGD4 6 4?D46<F=>< ?>DO4>5, 74F5< 

ED54EF64 ?5D<>4<G5E>>= ?5G4F< 6 4?D46<F=>< ?>DO4>5; <EF>G=<>< <7 E5F< �=F5D=5F. 

 

 

�5F>4<G5E><5 D5>><5=44F<< ?> E>744=<N <G?LF<<54<==>= ?D575=F4F<< 

%FDG>FGD4 < E>45D64=<5 ?D575=F4F<< 3 MF> ?<G=>5 F6>DG5EF6> 46F>D4. �>?57=> <E?>?L7>64FL 

L45?>=O >D>D<?5=<O 4?O ?>47>F>6>< >><?LNF5D=>= ?D575=F4F<<. 

%?4=4O 65?4F5?L=> =5 ?5D57DG64FL F5>EF><, ?GGL5 D47<5EF<FL >>D>F><5 F57<EO. �4 E?4=44E 

=5>5E>4<<> 45<>=EFD<D>64FL =55>?LL<5 DD47<5=FO F5>EF4 4>EFG?=O5 4?O GF5=<O =4 D4EEF>O=<<; 2-3 

D>F>7D4D<< <?< D<EG=>4. �4<5>?55 646=O= <4F5D<4? ?GGL5 6O45?<FL. 

&45?<FO E F<DD>6O<< 44==O<< ??>E> 6>E?D<=<<4NFEO E> E?4=4>6, 6 MF>< E?GG45 F<DD>6>= 

<4F5D<4?, ?> 6>7<>6=>EF<, ?GGL5 ?D54EF46<FL 6 6<45 7D4D<>>6 < 4<47D4<<. 

�5 E?54G5F <7?<L=5 G6?5>4FLEO <G?LF<<54<==O<< MDD5>F4<< 4=<<4F<<. �E>55==> 

=565?4F5?L=O F4><5 MDD5>FO >4> 6O?5F, 6D4M5=<5, 6>?=4, ?>5G>65==>5 ?>O6?5=<5 F5>EF4 < F.4. 

�?F<<4?L=4O =4EFD>=>4 MDD5>F>6 4=<<4F<< 3 ?>O6?5=<5, 6 ?5D6GN >G5D54L, 747>?>6>4 E?4=44, 4 

74F5< 4 F5>EF4 ?> 4574F4<. �D< MF>< 5E?< =5E>>?L>> E?4=4>6 <<5NF >4<=4>>6>5 =4764=<5, F> 

747>?>6>> E?4=44 4>?65= ?>EF>O==> >EF464FLEO =4 M>D4=5. 

'F>5O >55E?5G<FL E>D>LGN G<F45<>EFL ?D575=F4F<< =5>5E>4<<> ?>4>5D4FL F5<=O= F65F 

D>=4 < E65F?O= F65F LD<DF4. �5?L7O F4>65 6O5<D4FL D>=, >>F>DO= E>45D6<F 4>F<6=O= D<EG=>>. 

�5?4F5?L=> ?>47>F>6<FL > >464><G E?4=4G 74<5F>< ?> 4>>?44G. �4F5< D4E?5G4F4FL <E < 

<E?>?L7>64FL ?D< ?>47>F>6>5 <?< =4 E4<>= ?D575=F4F<<. �>6=> D4E?5G4F4FL =5>>F>DO5 >?NG56O5 

E?4=4O 6 >4G5EF65 D4744F>G=>7> <4F5D<4?4. 

�5>5E>4<<> >5O74F5?L=> E>5?N44FL 54<=O= EF<?L >D>D<?5=<O ?D575=F4F<< < >5D4F<FL 

6=<<4=<5 =4 EF<?<EF<G5E>GN 7D4<>F=>EFL. 

%?54G5F ?D>=G<5D>64FL E?4=4O. -F> ?>76>?<F 5OEFD> >5D4M4FLEO > >>=>D5F=><G E?4=4G 6 

E?GG45 =5>5E>4<<>EF<. 

$5>><5=44F<< ?> E>45D64=<N < EFDG>FGD5 E?4=4>6 <G?LF<<54<==>= ?D575=F4F<<: 

1-= E?4=4 (F<FG?L=O=), =4 D>=5 >>F>D>7> EFG45=F ?D54EF46?O5F F5<G ?D>5>F4, $�� < 

=4GG=>7> DG>>6>4<F5?O. 

2-= E?4=4. �>?NG45F 6 E55O >5N5>F, ?D54<5F < 7<?>F57G <EE?54>64=<O. 

3-= E?4=4. %>45D6<F F5?L < 7444G< <EE?54>64=<O. &5?L ?D>5>F4 4>?6=4 5OFL =4?<E4=4 =4 

M>D4=5 >DG?=O< LD<DF><. �45EL 65, 5E?< ?>76>?O5F <5EF>, <>6=> =4?<E4FL < 7444G<. �444G< <>7GF 

5OFL ?D54EF46?5=O < =4 E?54GNM5< E?4=45. 

4-= - E?4=4. %>45D6<F EFDG>FGDG D45>FO, >>F>DGN <>6=> ?D54>EF46<FL, =4?D<<5D, 6 6<45 

7D4D<G5E><E 5?>>>6 E> EFD5?>4<<. � F4>65 3 ?5D5G<E?5=<5 ?D<<5=O5<OE <5F>4>6 < <5F>4<>. 

5-= - E?4=4. �D54EF46?O5FEO E>45D64=<5 < F5>D5F<G5E>4O 7=4G<<>EFL ?D>5>F4. %GFL D5L45<>= 

?D>5?5<O <>65F 5OFL ?D54EF46?5=4 6 6<45 EE5<, F45?<F, 4<47D4<<, 7D4D<>>6, D>F>7D4D<=, 

DD47<5=F>6 D<?L<>6 < F.?. �4 F5>D5F<G5E>GN G4EFL ?D54EF46?5=<O ?D>5>F4 4>?6=> 5OFL E>744=> 

=5E>>?L>> E?4=4>6. 

6-= - E?4=4. �>7<>6=>EF< ?D<<5=5=<O D57G?LF4F>6 D45>FO =4 ?D4>F<>5. �4 MFG F5<G F4>65 

4>?6=> 5OFL =5E>>?L>> E?4=4>6. 

7-= E?4=4. �?46=O5 6O6>4O, <F>7<, D57G?LF4FO ?D>5>F4 F5?5E>>5D47=> ?><5EF<FL =4 

>F45?L=>< E?4=45. �D< MF>< =5 E?54G5F ?5D5G<E?OFL F>, GF> 5O?> E45?4=>, 4 ?4>>=<G=> <7?>6<FL 

EGFL 7=4G<<>EF< ?D>5>F4 <?< ?>?GG5==OE D57G?LF4F>6 <EE?54>64=<O. 

�>E?54=<= E?4=4. � >>=5F ?D575=F4F<< 65?4F5?L=> ?><5EF<FL E?4=4 E F5>EF>< «%?4E<5> 74 

6=<<4=<5!». 
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�5F>4<G5E><5 G>474=<O ?> ?D>6545=<N ?5>F<= ?> 4<EF<??<=5 «�<>?>?<F<>4» 

  �D>6545=<5 ?5>F<>==OE 74=OF<= O6?O5FEO =5>FN5<?5<>= G4EFLN >5D47>64F5?L=>7> ?D>F5EE4 6 

6G75.  �5>F<O 6 6G75 3 >4<= <7 <5F>4>6 >5GG5=<O, >4=4 <7 >E=>6=OE E<EF5<>>5D47GNM<E D>D< 

>D74=<74F<< GG55=>7> ?D>F5EE4 6 6G75. �5>F<>==>5 74=OF<5 ?D54EF46?O5F E>5>= E<EF5<4F<G5E>>5, 

?>E?54>64F5?L=>5, <>=>?>7<G5E>>5 <7?>65=<5 ?D5?>4464F5?5<-?5>F>D>< GG55=>7> <4F5D<4?4, >4> 

?D46<?>, F5>D5F<G5E>>7> E4D4>F5D4. &4>>5 74=OF<5 ?D54EF46?O5F E>5>= M?5<5=F F5E=>?>7<< 

?D54EF46?5=<O GG55=>7> <4F5D<4?4 ?GF5< ?>7<G5E>< EFD>==>7>, E<EF5<4F<G5E>< ?>E?54>64F5?L=>7> < 

OE=>7> <7?>65=<O. &5?L ?5>F<< 3 >D74=<74F<O F5?5=4?D46?5==>= ?>7=464F5?L=>= 45OF5?L=>EF< 

EFG45=F>6 ?> >6?445=<N ?D>7D4<<=O< <4F5D<4?>< GG55=>= 4<EF<??<=O. 'F5=<5 >GDE4 ?5>F<= 

?>76>?O5F 44FL E6O74==>5, ?>E?54>64F5?L=>5 <7?>65=<5 <4F5D<4?4 6 E>>F65FEF6<< E =>65=L<<< 

44==O<< =4G><, E>>5M<FL E?GL4F5?O< >E=>6=>5 E>45D64=<5 ?D54<5F4 6 F5?>EF=><, 

E<EF5<4F<7<D>64==>< 6<45. � DO45 E?GG456 ?5>F<O 6O?>?=O5F DG=>F<N >E=>6=>7> <EF>G=<>4 

<=D>D<4F<<: ?D< >FEGFEF6<< GG55=<>>6 < GG55=OE ?>E>5<=, G4M5 ?> =>6O< >GDE4<; 6 E?GG45, >>744 

=>6O5 =4GG=O5 44==O5 ?> F>= <?< <=>= F5<5 =5 =4L?< >FD465=<O 6 GG55=<>4E; >F45?L=O5 D4745?O < 

F5<O >G5=L E?>6=O 4?O E4<>EF>OF5?L=>7> <7GG5=<O. � F4><E E?GG4OE F>?L>> ?5>F>D <>65F 

<5F>4<G5E>< ?><>GL EFG45=F4< 6 >E6>5=<< E?>6=>7> <4F5D<4?4. �444G< ?5>F<< 74>?NG4NFEO 6 

>55E?5G5=<< D>D<<D>64=<O E<EF5<O 7=4=<= ?> GG55=>= 4<EF<??<=5, 6 G<5=<< 4D7G<5=F<D>64=> 

<7?474FL =4GG=O= <4F5D<4?, 6 D>D<<D>64=<< ?D>D5EE<>=4?L=>7> >DG7>7>D4 < >5M5= >G?LFGDO, 6 

>FD465=<< 5M5 =5 ?>?GG<6L<E >E65M5=<O 6 GG55=>= ?<F5D4FGD5 =>6OE 4>EF<65=<= =4G><, 6 

>?F<<<74F<< 4DG7<E D>D< >D74=<74F<< GG55=>7> ?D>F5EE4.  

�D< GF5=<< ?5>F<= ?D5?>4464F5?L <<55F ?D46> E4<>EF>OF5?L=> 6O5<D4FL D>D<O < <5F>4O 

<7?>65=<O <4F5D<4?4, >>F>DO5 5G4GF E?>E>5EF6>64FL >4G5EF65==><G 57> GE6>5=<N. �D< MF>< 

?D5?>4464F5?L 6 GEF4=>6?5==>< ?>DO4>5 <>65F <E?>?L7>64FL F5E=<G5E><5 ED54EF64 >5GG5=<O, 

<<5NM<5EO =4 >4D54D5 < 6 G=<65DE<F5F5. 

�>DO4>> ?D>6545=<O ?5>F<>==>7> 74=OF<O. �5>F<O >4> M?5<5=F >5D47>64F5?L=>7> ?D>F5EE4 

4>?6=4 6>?NG4FL E?54GNM<5 MF4?O:  

1. D>D<G?<D>6>G F5<O ?5>F<<;  

2. G>474=<5 >E=>6=OE <7GG45<OE D4745?>6 <?< 6>?D>E>6 < ?D54?>?4745<OE 74FD4F 6D5<5=< =4 

<E <7?>65=<5;  

3. <7?>65=<5 66>4=>= G4EF<;  

4. <7?>65=<5 >E=>6=>= G4EF< ?5>F<<; 

5. >D4F><5 6O6>4O ?> >464><G <7 6>?D>E>6;  

6. 74>?NG5=<5;  

7. D5>><5=44F<< ?<F5D4FGD=OE <EF>G=<>>6 ?> <7?4745<O< 6>?D>E4<. 

 

 

�5F>4<G5E><5 G>474=<O ?> ?D>6545=<N ?D4>F<G5E><E 74=OF<= ?> 4<EF<??<=5 

«�<>?>?<F<>4» 

�GDE «�<>?>?<F<>4» G<F45FEO 6 F5G5=<5 >4=>7> E5<5EFD4 ?> 464 G4E4 6 =545?N. �D4>F<G5E><5 

74=OF<O ?D<764=O =4GG<FL EFG45=F4 E4<>EF>OF5?L=> D45>F4FL E GG55=O<< F5>EF4<<, 4=4?<7<D>64FL 

<4F5D<4?. � =4G4?5 74=OF<O D5>><5=4G5FEO D4EE<>FD5FL E>>F65FEF6GNM<= F5>D5F<G5E><= <4F5D<4?. 

�4F5< <45F ?D4>F<G5E><= D475>D <7GG45<>7> <4F5D<4?4, D5L4NFEO 7444G< <7 ?D4>F<>G<4, D475<D45FEO 

>464O= >>=>D5F=O= ?D<<5D. 

� =4G4?5 ?D4>F<G5E>>7> 74=OF<O E?54G5F >5D4F<FL 6=<<4=<5 =4 F5>D5F<G5E><5 6>?D>EO ?> F5<5 

74=OF<O. �5D6>=4G4?L=> <45F <7?>65=<5 F5>D5F<G5E>>7> <4F5D<4?4 F5<O 74=OF<O. �4F5< 6 DO45 

6>?D>E>6 ?D5?>4464F5?O E?54G5F E>>=F5=FD<D>64FL 6=<<4=<5 =4 >E=>6=OE <45OE F5<O 74=OF<O. 

�>?D>EO 4>?6=O 6>?NG4FL 6 E55O D47?<G=O5 64D<4F<< M?5<5=F4D=OE E<FG4F<=, >F>5D464NM<E 

>E=>6=O5 <45< F5<O 74=OF<O 6 <E 674<<=>= 674<<>E6O7<. �444645<O5 6>?D>EO 4>?6=O 5OFL 

>>=>D5F=O<< < <4>E<<4?L=> ?D>O6?OFL 6 EFG45=F4E <E E>>5D47<F5?L=>EFL.  

'EF=O= >?D>E FD55G5F >F ?D5?>4464F5?O 5>?LL>= ?D5464D<F5?L=>= ?>47>F>6><: FM4F5?L=>7> 

>F5>D4 E>45D64=<O, 6E5EF>D>==57> ?D>4G<O64=<O 6>?D>E>6, 7444G < ?D<<5D>6, >>F>DO5 5G4GF 
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?D54?>65=O, ?GF5= 4>F<6<74F<< 45OF5?L=>EF< 6E5E EFG45=F>6 7DG??O 6 ?D>F5EE5 ?D>65D><, E>744=<O 

=4 74=OF<< 45?>6>= < 4>5D>65?4F5?L=>= >5EF4=>6><. 

$47?<G4NF DD>=F4?L=O=, <=4<6<4G4?L=O= < >><5<=<D>64==O= >?D>E. 

$D>=F4?L=O= >?D>E ?D>6>4<FEO 6 D>D<5 55E54O ?D5?>4464F5?O E 7DG??>=. 

�= >D74=<G5E>< E>G5F45FEO E ?>6F>D5=<5< ?D>=45==>7>, O6?OOEL ED54EF6>< 4?O 74>D5??5=<O 

7=4=<= < G<5=<=. �7> 4>EF><=EF6> 6 F><, GF> =4 4>F<6=GN G<EF65==GN D45>FG <>6=> 6>6?5GL 6E5E 

EFG45=F>6 7DG??O. �?O MF>7> 6>?D>EO 4>?6=O 4>?GE>4FL >D4F>GN D>D<G >F65F4, 5OFL ?4>>=<G=O<<, 

?>7<G5E>< 674<<>E6O74==O<< 4DG7 E 4DG7><, 44=O 6 F4>>= ?>E?54>64F5?L=>EF<, GF>5O >F65FO 

EFG45=F>6 6 E>6>>G?=>EF< <>7?< D4E>DOFL E>45D64=<5 D4745?4, F5<O. % ?><>MLN DD>=F4?L=>7> 

>?D>E4 ?D5?>4464F5?L <<55F 6>7<>6=>EFL ?D>65D<FL 6O?>?=5=<5 EFG45=F4<< 4><4L=57> 7444=<O, 

6OOE=<FL 7>F>6=>EFL 7DG??O > <7GG5=<N =>6>7> <4F5D<4?4, >?D545?<FL ED>D<<D>64==>EFL >E=>6=OE 

?>=OF<=, GE6>5=<5 =>6>7> GG55=>7> <4F5D<4?4, >>F>DO= 5O? F>?L>> GF> D47>5D4= =4 74=OF<<. 

�=4<6<4G4?L=O= >?D>E ?D54?>?4745F >5EF>OF5?L=O5, E6O7=O5 >F65FO EFG45=F>6 =4 6>?D>E, 

>F=>EOM<=EO > <7GG45<><G GG55=><G <4F5D<4?G, ?>MF><G >= E?G6<F 646=O< GG55=O< ED54EF6>< 

D476<F<O D5G<, ?4<OF<, <OL?5=<O EFG45=F>6. 'F>5O E45?4FL F4>GN ?D>65D>G 5>?55 7?G5>>>=, 

=5>5E>4<<> EF46<FL ?5D54 EFG45=F4<< 6>?D>EO, FD55GNM<5 D4765D=GF>7> >F65F4. 

�>?D>EO 4?O <=4<6<4G4?L=>7> >?D>E4 4>?6=O 5OFL G5F><<<, OE=O<<, >>=>D5F=O<<, 5<><<<, 

<<5FL ?D<>?44=>= E4D4>F5D, >E64FO64FL >E=>6=>=, D4=55 ?D>=45==O= <4F5D<4? ?D>7D4<<O. �E 

E>45D64=<5 4>?6=> EF<<G?<D>64FL EFG45=F>6 ?>7<G5E>< <OE?<FL, ED46=<64FL, 4=4?<7<D>64FL, 

4>>47O64FL, ?>45<D4FL G554<F5?L=O5 ?D<<5DO, GEF4=46?<64FL ?D<G<==>-E?54EF65==O5 E6O7<, 45?4FL 

>5>E=>64==O5 6O6>4O < MF<< E?>E>5EF6>64FL >5N5>F<6=><G 6OO6?5=<N 7=4=<= EFG45=F>6. 

�>?D>EO >5OG=> 7444NF 6E5= 7DG??5 < ?>E?5 =55>?LL>= ?4G7O, =5>5E>4<<>= 4?O F>7>, GF>5O 

EFG45=FO ?>=O?< 57> < ?D<7>F>6<?<EL > >F65FG, 6O7O64NF 4?O >F65F4 >>=>D5F=>7> EFG45=F4. 

�<EL<5==4O ?D>65D>4 =4DO4G E GEF=>= O6?O5FEO 646=5=L<< <5F>4>< >>=FD>?O 7=4=<=, 

G<5=<= < =46O>>6 EFG45=F>6. �4=>D>4=>EFL D45>F, 6O?>?=O5<OE EFG45=F4<<, ?>76>?O5F ?D54NO6?OFL 

>> 6E5< >4<=4>>6O5 FD55>64=<O, ?>?OF45F >5N5>F<6=>EFL >F5=>< D57G?LF4F>6 >5GG5=<O. �D<<5=5=<5 

MF>7> <5F>44 445F 6>7<>6=>EFL 6 =4<5>?55 >>D>F><= ED>> >4=>6D5<5==> ?D>65D<FL GE6>5=<5 

GG55=>7> <4F5D<4?4 6E5<< EFG45=F4<< 7DG??O, >?D545?<FL =4?D46?5=<O 4?O <=4<6<4G4?L=>= D45>FO 

E >464O<. 

�<EL<5==4O ?D>65D>4 <E?>?L7G5FEO 6> 6E5E 6<44E >>=FD>?O < >EGM5EF6?O5FEO >4> 6 

4G4<F>D=>=, F4> < 6> 6=54G4<F>D=>= D45>F5 (6O?>?=5=<5 4><4L=<E 7444=<=). 

  

 

8. �F5=>G=O5 ED54EF64 4?O F5>GM57> >>=FD>?O GE?5645<>EF<, DG556=>= 4FF5EF4F<< < 

?D><56GF>G=>= 4FF5EF4F<< ?> <F>74< >E6>5=<O 4<EF<??<=O. 
$45>G4O ?D>7D4<<4 ?D54GE<4FD<645F ?D>6545=<5 ?5>F<>==OE < ?D4>F<G5E><E 74=OF<=, 4 F4>65 

E?54GNM<5 6<4O D45>F: E4<>EF>OF5?L=GN D45>FG EFG45=F>6 ?> ?>47>F>6>5 GEF=OE 4>>?44>6, =4?<E4=<N 

D5D5D4F>6, ?>47>F>6>G ?D575=F4F<= < >5EG645=<= ?> F5<4< 4<EF<??<=O. 

�<4O >>=FD>?O. 

$45>G4O ?D>7D4<<4 ?D54?>?4745F F5>GM<= >>=FD>?L 7=4=<=. 

&5>GM<= >>=FD>?L 3 MF> =5?D5DO6=> >EGM5EF6?O5<O= <>=<F>D<=7 GD>6=O GE6>5=<O 7=4=<= < 

D>D<<D>64=<O G<5=<= < =46O>>6 6 F5G5=<5 E5<5EFD4. &5>GM<= >>=FD>?L 7=4=<=, G<5=<= < =46O>>6 

EFG45=F>6 >EGM5EF6?O5FEO 6 E>45 GG55=OE (4G4<F>D=OE)74=OF<=, ?D>6>4<<OE ?> D4E?<E4=<N. 

$>D<4<< F5>GM57> >>=FD>?O <>7GF 5OFL >?D>EO =4 E5<<=4DE><E 74=OF<OE, D5L5=<5 F5EF>6OE 

7444=<5, ?>47>F>6>4 D5D5D4F>6 < ?D575=F4F<=.  
 

�&���'�/� %$��%&�� ��/ �$�������/ &��'-��� ���&$��/ 

&5<O, D5>><5=4G5<O5 4?O >?D>E4, =4?<E4=<O D5D5D4F>6 < E>EF46?5=<O ?D575=F4F<= (4?O 

D>D<<D>64=<O >><?5F5=F<= '�-1.3; ���-4.2) 
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-F=>F5=FD<7< 

�<>F5=FD<7< 

�=FD>?>F5=FD<7< 

 

&5?5=4?D46?5==>5 6=GL5=<5 ?>?<F<G5E><E <45=, F5==>EF5=, =>D< ?>6545=<O 7DG??4 ?N45=: 

-F=>F5=FD<7< 

+�=4>>FD<=4F<O 

�=FD>?>F5=FD<7< 

 

�E>5O= 44D ?<45D4, E?>E>5=>7> >G4D>64FL < G6?5GL 74 E>5>= <4EEO ?N45=: 

%4D<7<4 

�><<G=<>4F<O 

 

�D<F5D<= >F5=<64=<O F5EF>6OE 7444=<= 

 

�>?<G5EF6> 54??>6 �>?<G5EF6> 6O?>?=5==OE 7444=<= % 

5 85% 

4 70-85% 

3 50-70% 

 

�F5=<64=<5 EFG45=F4 6 E>45 F5>GM57> >>=FD>?O GE?5645<>EF< >EGM5EF6?O5FEO <EE>4O <E 

6O?>?=5=<O 65E 6<4>6 E4<>EF>OF5?L=>= D45>FO. 

$>D<4 ?D><56GF>G=>7> >>=FD>?O 3 74G5F 6 GEF=>= D>D<5. 

%<EF5<4 >F5=<64=<O ?> D57G?LF4F4< ?D><56GF>G=>7> >>=FD>?O >EGM5EF6?O5FEO 6 

E>>F65FEF6<< E ?>?>65=<5< %��', 4 F4>65 E GG5F>< FD55>64=<= < >D<F5D<=, D47D45>F4==OE 

?D5?>4464F5?5< ?> 44==>= 4<EF<??<=5.  
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�&���'�/� %$��%&�� ��/ �$�������/ �&������� ���&$��/ 

(4?O D>D<<D>64=<O >><?5F5=F<= '�-1.3; ���-4.2) 

 

1. �<>?>?<F<>4: <EF>D<O < >E=>6=O5 =4?D46?5=<O. 

2. �>?<F>?>7<G5E><5 < ?>?<F<G5E><5 ?D54?>EO?>< 5<>?>?<F<><. 

3. $<?>E>DE><5 4E?5>FO 5<>?>?<F<><. �<>?>?<F<>4 < =4FGD4?<7<. �>M6>?NF<O. �<>F5=FD<7<. 

4. �G<4=<EF<>4. %D<EF<4=E>4O 5<>?>?<F<>4. 

5. -6>?NF<>==>-5<>?>7<G5E><5 >>D=< G5?>65G5E>>7> >5M5EF64 < ?>?<F<G5E><E E<EF5<. 

6. -F>?>7<O G5?>65>4.  

7. %>F<4?L=>5 ?>6545=<5 < 55 >?4EE<D<>4F<O. 

8. �><<G=<>4F<O.  

9. �<>E5<<>F<>4.   

10. �7>=<EF<G5E>>5 ?>6545=<5. 

11. �>O?L=>5 (=547>=<EF<G5E>>5) ?>6545=<5. 

12. �D<?<4F<O. 

13. �>>?5D4F<O.  

14. �?LFDG<7< D>4EF65==O= < 674<<=O=. 

15. �<>E>F<4?L=O5 E<EF5<O. 

16. �>??5>F<6=4O 47D5EE<O 6 G5?>65G5E>>< E>F<G<5. �>==4. &5DD>D<7<.  

17. -F=>F5=FD<7< < MF=>>>=D?<>FO.  

18. %4D<7<>F<G5E>>5 ?<45DEF6>.  

19. �5=5F<>4: 5<>?>?<F<G5E>>5 7=4G5=<5. 

20. �5=5F<>4 E>F<4?L=>7> ?>6545=<O G5?>65>4.  

21. �5=5F<G5E>>5 D47=>>5D47<5 G5?>65G5EF64.  

22. �5=D>D<7<>?>7<O < 5<>?>?<F<>4.�DG?=5=L<5 <>4G?< <>774. �5=D><54<4F>DO. $5D><>=O.  

23. �ED4=4 6<6>= ?D<D>4O (5<>D47=>>5D47<O): 5<>?>?<F<G5E><= ?>4E>4.  

24. �<>?>7<G5E>>5 >5D47>64=<5.  

 

�>>474F5?< < >D<F5D<< >F5=<64=<O >><?5F5=F<= =4 D47?<G=OE MF4?4E <E D>D<<D>64=<O, 

>?<E4=<5 L>4? >F5=<64=<O 

 
'D>65=L ED>D<<D>64==>EF< >><?5F5=F<= 

«�<=<<4?L=O= GD>65=L 

=5 4>EF<7=GF»  

�><?5F5=F<< =5 

ED>D<<D>64=O. 

 

�=4=<O >FEGFEF6GNF, 

G<5=<O < =46O>< =5 

ED>D<<D>64=O. 

 

 

«�<=<<4?L=O= GD>65=L»  

�><?5F5=F<< ED>D<<D>64=O. 

 

%D>D<<D>64=O 547>6O5 

EFDG>FGDO 7=4=<=. 

'<5=<O DD47<5=F4D=O < =>EOF 

D5?D>4G>F<6=O= E4D4>F5D. 

�5<>=EFD<DG5FEO =<7><= 

GD>65=L E4<>EF>OF5?L=>EF< 

?D4>F<G5E>>7> =46O>4. 

«%D54=<= GD>65=L» �><?5F5=F<< 

ED>D<<D>64=O. 

 

�=4=<O >5L<D=O5, E<EF5<=O5. 

'<5=<O =>EOF D5?D>4G>F<6=O= 

E4D4>F5D, ?D<<5=ONFEO > D5L5=<N 

F<?>6OE 7444=<=. 

�5<>=EFD<DG5FEO 4>EF4F>G=O= 

GD>65=L E4<>EF>OF5?L=>EF< 

GEF>=G<6>7> ?D4>F<G5E>>7> =46O>4. 

«�OE>><= GD>65=L» 

�><?5F5=F<< 

ED>D<<D>64=O. 

 

�=4=<O F65D4O5, 

4D7G<5=F<D>64==O5, 

6E5EF>D>==<5. 

'<5=<O GE?5L=> 

?D<<5=ONFEO > D5L5=<N 

>4> F<?>6OE, F4> < 

=5EF4=44DF=OE 

F6>DG5E><E 7444=<=. 

�5<>=EFD<DG5FEO 

6OE>><= GD>65=L 

E4<>EF>OF5?L=>EF<, 

6OE>>4O 444?F<6=>EFL 

?D4>F<G5E>>7> =46O>4 

 �?<E4=<5 >D<F5D<56 >F5=<64=<O 

�5GG4NM<=EO 

45<>=EFD<DG5F: 

EGM5EF65==O5 ?D>55?O 

6 7=4=<OE GG55=>7> 

<4F5D<4?4; 

4>?GE>4NFEO 

�5GG4NM<=EO 45<>=EFD<DG5F: 

7=4=<O F5>D5F<G5E>>7> 

<4F5D<4?4; 

 =5?>?=O5 >F65FO =4 >E=>6=O5 

6>?D>EO, >L<5>< 6 >F65F5, 

=54>EF4F>G=>5 ?>=<<4=<5 

�5GG4NM<=EO 45<>=EFD<DG5F: 

7=4=<5 < ?>=<<4=<5 >E=>6=OE 

6>?D>E>6 >>=FD>?<DG5<>7> 

>5N5<4 ?D>7D4<<=>7> 

<4F5D<4?4; 

F65D4O5 7=4=<O F5>D5F<G5E>>7> 

�5GG4NM<=EO 

45<>=EFD<DG5F: 

7?G5>><5, 6E5EF>D>==<5 

< 4D7G<5=F<D>64==O5 

7=4=<O ?D>7D4<<=>7> 

<4F5D<4?4; 



22 

 

?D<=F<?<4?L=O5 

>L<5>< ?D< >F65F5 =4 

>E=>6=O5 6>?D>EO 

5<?5F4, >FEGFEF6G5F 

7=4=<5 < ?>=<<4=<5 

>E=>6=OE ?>=OF<= < 

>4F57>D<=; 

=5?>=<<4=<5 EGM=>EF< 

4>?>?=<F5?L=OE 

6>?D>E>6 6 D4<>4E 

7444=<= 5<?5F4; 

>FEGFEF6<5 G<5=<O 

6O?>?=OFL ?D4>F<G5E><5 

7444=<O, 

?D54GE<>FD5==O5 

?D>7D4<<>= 

4<EF<??<=O; 

>FEGFEF6<5 7>F>6=>EF< 

(E?>E>5=>EF<) > 

4<E>GEE<< < =<7>GN 

EF5?5=L >>=F4>F=>EF<. 

EGM=>EF< <7?4745<OE 

6>?D>E>6; 

=5G65D5==O5 < =5F>G=O5 

>F65FO =4 4>?>?=<F5?L=O5 

6>?D>EO; 

=54>EF4F>G=>5 6?445=<5 

?<F5D4FGD>=, D5>><5=4>64==>= 

?D>7D4<<>= 4<EF<??<=O; 

G<5=<5 557 7DG5OE >L<5>> 

D5L4FL ?D4>F<G5E><5 7444=<O, 

>>F>DO5 E?54G5F 6O?>?=<FL. 

<4F5D<4?4; 

E?>E>5=>EFL GEF4=46?<64FL < 

>5NOE=OFL E6O7L ?D4>F<>< < 

F5>D<<, 6OO6?OFL ?D>F<6>D5G<O, 

?D>5?5<O < F5=45=F<< D476<F<O; 

?D46<?L=O5 < >>=>D5F=O5, 557 

7DG5OE >L<5>>, >F65FO =4 

?>EF46?5==O5 6>?D>EO; 

G<5=<5 D5L4FL ?D4>F<G5E><5 

7444=<O, >>F>DO5 E?54G5F 

6O?>?=<FL; 

 6?445=<5 >E=>6=>= 

?<F5D4FGD>=, D5>><5=4>64==>= 

?D>7D4<<>= 4<EF<??<=O;  

=4?<G<5 E>5EF65==>= 

>5>E=>64==>= ?>7<F<< ?> 

>5EG6445<O< 6>?D>E4<. 

�>7<>6=O =57=4G<F5?L=O5 

>7>6>D>< < =5F>G=>EF< 6 

D4E>DOF<< >F45?L=OE 

?>?>65=<= 6>?D>E>6 5<?5F4, 

?D<EGFEF6G5F =5G65D5==>EFL 6 

>F65F4E =4 6>?D>EO. 

?>?=>5 ?>=<<4=<5 

EGM=>EF< < 674<<>E6O7< 

D4EE<4FD<645<OE 

?D>F5EE>6 < O6?5=<=, 

F>G=>5 7=4=<5 >E=>6=OE 

?>=OF<= 6 D4<>4E 

>5EG6445<OE 7444=<=; 

E?>E>5=>EFL 

GEF4=46?<64FL < 

>5NOE=OFL E6O7L 

?D4>F<>< < F5>D<<; 

?>7<G5E>< 

?>E?54>64F5?L=O5, 

E>45D64F5?L=O5, 

>>=>D5F=O5 < 

<EG5D?O64NM<5 >F65FO 

=4 6E5 7444=<O 5<?5F4, 4 

F4>65 4>?>?=<F5?L=O5 

6>?D>EO M>74<5=4F>D4; 

G<5=<5 D5L4FL 

?D4>F<G5E><5 7444=<O; 

E6>5>4=>5 

<E?>?L7>64=<5 6 >F65F4E 

=4 6>?D>EO <4F5D<4?>6 

D5>><5=4>64==>= 

>E=>6=>= < 

4>?>?=<F5?L=>= 

?<F5D4FGDO. 

�F5=>4 

«=5G4>6?5F6>D<F5?L=>» 

/=574GF5=> 

�F5=>4 «G4>6?5F6>D<F5?L=>» / 

«74GF5=>» 

�F5=>4 «E>D>L>» / «74GF5=>» �F5=>4 «>F?<G=>» / 

«74GF5=>» 

 

 

9. 'G55=>-<5F>4<G5E>>5 < <=D>D<4F<>==>5 >55E?5G5=<5 4<EF<??<=O (<>4G?O) 

4) �E=>6=4O ?<F5D4FGD4: 

1. �?5E><= �.�. �<>?>?<F<>4. �GDE ?5>F<=. /�.: �4GG=O= <<D, 2007. - 356 E. (=4GG=4O 5<5?<>F5>4 

%��') 

5) �>?>?=<F5?L=4O ?<F5D4FGD4: 

2. %>>>?>64, �. �. �E<E>D<7<>?>7<O. $476<F<5 GG5=<O > <>775 < ?>6545=<<: GG55=>5 ?>E>5<5 4?O 

4>445<<G5E>>7> 54>4?46D<4F4 / �. �. %>>>?>64. 4 2-5 <74., <E?D. < 4>?. 4 �>E>64: 

�744F5?LEF6> .D4=F, 2019. 4 210 E. 4 (�4>4?46D. �>445<<G5E><= >GDE. �>4G?L). 4 ISBN 978-

5-534-08318-7. 4 &5>EF: M?5>FD>==O= // -�% .D4=F [E4=F]. 4 URL: https://www.biblio-

online.ru/bcode/438142 (44F4 >5D4M5=<O: 28.06.2019). 

3. $<7<>?>7<O. �75D4==O5 ?D><76545=<O 6 4 G. '4EFL 1 / �. �. %5G5=>6; ?>4 D544>F<5= %. %. 

�>LF>O=F4; E>EF46<F5?L %. �. �5??5DLF5==, �. �. %<<D=>6. 4 �>E>64: �744F5?LEF6> .D4=F, 

2019. 4 271 E. 4 (�=F>?>7<O <OE?<). 4 ISBN 978-5-534-02872-0. 4 &5>EF: M?5>FD>==O= // -�% 

.D4=F [E4=F]. 4 URL: https://www.biblio-online.ru/bcode/438487 (44F4 >5D4M5=<O: 28.06.2019). 

4. %5G5=>6, �. �. �E<E>?>7<O ?>6545=<O. �75D4==O5 FDG4O / �. �. %5G5=>6. 4 �>E>64: 

�744F5?LEF6> .D4=F, 2019. 4 223 E. 4 (�=F>?>7<O <OE?<). 4 ISBN 978-5-534-07905-0. 4 

&5>EF: M?5>FD>==O= // -�% .D4=F [E4=F]. 4 URL: https://www.biblio-

online.ru/bcode/437895 (44F4 >5D4M5=<O: 28.06.2019). 

5. $57=<>>64, �. �. �>>?E<E>?>7<O. �=F5??5>F < O7O> 6<6>F=OE < G5?>65>4. � 2 G.: GG55=<> 4?O 

6G7>6 / �. �. $57=<>>64. 4 2-5 <74., <E?D. < 4>?. 4 �>E>64: �744F5?LEF6> .D4=F, 2019. 4 212 

E. 4 (�6F>DE><= GG55=<>). 4 ISBN 978-5-534-08288-3. 4 &5>EF: M?5>FD>==O= // -�% .D4=F 

[E4=F]. 4 URL: https://www.biblio-online.ru/bcode/437486 (44F4 >5D4M5=<O: 28.06.2019). 
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6) ?D>7D4<<=>5 >55E?5G5=<5, -�%, ?D>D5EE<>=4?L=O5 547O < �=F5D=5F-D5EGDEO: 

- =5>5E>4<<O= 4?O >55E?5G5=<O 44==>= 4<EF<??<=O >><??5>F ?<F5=7<>==>7> < E6>5>4=> 

D4E?D>EFD4=O5<>7> ?D>7D4<<=>7> >55E?5G5=<O, 6 F>< G<E?5 >F5G5EF65==>7> ?D><76>4EF64, 4 F4>65 

M?5>FD>==O5 5<5?<>F5G=O5 E<EF5<O, E >>F>DO<< G %��' <<55FEO 45=EF6GNM<= 4>7>6>D: 
 

7 

?/? 

�4<<5=>64=<5 7 4>7>6>D4(?<F5=7<O) 

 

%FD4=4- 

?D><76>4<F5?L 

1. 
Windows 7 Professional 7 4100072800  Microsoft Products 

(MPSA) >F 04.20167 

%,� 

2. 
OfficeStandard 2016 7 4100072800  Microsoft Products 

(MPSA) >F 04.20167 

%,� 

3. 
%<EF5<4 F5EF<D>64=<O 

SunravWEBClass 

7468 >F 03.12.2013 �� %G=74FG?<= 

$.&.(55EED>G=>) 

$>EE<O 

4. KasperksyEndpoint Security �> 22.01.2024 $>EE<O 

5. 

�D>7D4<<=>5 >55E?5G5=<5 4?O 

D544>F<D>64=<O E<<<G5E><E 

D>D<G? IsisDraw 

%6>5>4=>5 ?D>7D4<<=>5 

>55E?5G5=<5(55EED>G=>) 

%,� 

6. 
%<EF5<4 ?><E>4 F5>EF>6OE 

74<<EF6>64=<= 

«�=F<??47<4F.�'�» 

7 6262 >F 09.01.2023 (45=EF6<F5?5= 

4>  31.12.20237) E ��� «�=F<-

�?47<4F» 

$>EE<O 

7. 
'E?G7< E6O7< (4>EFG? > E5F< 

<=F5D=5F) 

��� �?>>< 7 �L-0044 >F 

01.02.20227 -31.12.20227 

$>EE<O 

8. 
MOODLE �5E??4F=>5 D>EE<=E>>5 %,� (55E??4F=>5 

D>EE<=E>>5) 

9. 
�<G=O= >45<=5F 45<FGD<5=F4 �<F5=7<O 55EED>G=4O 

&5E.E>?D>6>645=<5 >F 14.03.2022 7 

$>EE<O 

10. 
�<G=O= >45<=5F 
EFG45=F4/E>FDG4=<>4 

�<F5=7<O 55EED>G=4O 

&5E.E>?D>6>645=<5 >F 14.03.2022 7 

$>EE<O 

11. 
-?5>FD>==4O 5<5?<>F5>4 

4<EE5DF4F<< < 46F>D5D5D4F>6 

$��(-�� $��)  

https://dvs.rsl.ru 

&D55G5FEO D57<EFD4F<O 6 5<5?<>F5>5 

%��' 

$>EE<O 

12. 
-�%"'=<65DE<F5FE>4O 

5<5?<>F5>4 ONLINE" 

https://biblioclub.ru 

&D55G5FEO D57<EFD4F<O 6 5<5?<>F5>5 

%��' 

$>EE<O 

13. 

-�% «�4GG=4O M?5>FD>==4O 

5<5?<>F5>4 eLibrary.ru»   

http://elibrary.ru. 

&D55G5FEO D57<EFD4F<O 6 5<5?<>F5>5 

%��' 

 

$>EE<O 

14. 

'=<65DE4?L=4O 547 44==OE 

EastView 

https://dlib.eastview.com 

 

%,� 

15. 

-�% «�>=EG?LF4=F EFG45=F4» 

%FG45=G5E>4O M?5>FD>==4O 

5<5?<>F5>4 ?> <54<F<=E>><G < 

D4D<4F56F<G5E>><G 

>5D47>64=<N, 4 F4>65 ?> 

5EF5EF65==O< < F>G=O< =4G>4< 6 

F5?><.    

http://www.studentlibrary.ru 

&D55G5FEO D57<EFD4F<O 6 5<5?<>F5>5 

%��' 

$>EE<O 
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16. 

-�% «.D4=F» - >5D47>64F5?L=4O 

ED544, 6>?NG4NM4O 6<DFG4?L=O= 

G<F4?L=O= 74? GG55=<>>6 < 

GG55=OE ?>E>5<= >F 46F>D>6 <7 

654GM<E 6G7>6 $>EE<< ?> 6E5< 

=4?D46?5=<O< < E?5F<4?L=>EFO< 

www.biblio-online.ru 

&D55G5FEO D57<EFD4F<O 6 5<5?<>F5>5 

%��' 

$>EE<O 

 

�D>D5EE<>=4?L=O5 547O 44==OE < �=F5D=5F-D5EGDEO: 

� �EO 5<>?>7<O. %>6D5<5==4O 5<>?>7<O, EF4FL<, =>6>EF<, 5<5?<>F5>4. URL: https://sbio.info; 

� $G=44<5=F4?L=4O M?5>FD>==4O 5<5?<>F5>4 «$?>D4 < D4G=4». URL: 

http://herba.msu.ru/shipunov /school/sch-ru.htm 

� �>DF4?-?5DE>=4?L=O= E4=F «�D>5?5<O M6>?NF<<». URL: http://www.evolbiol.ru 

� �474 44==OE. �?D545?<F5?L D4EF5=<=. URL: https://www.plantarium.ru 

� �474 44==OE. ZooInt 3 7>>?>7<G5E>4O <=F57D<D>64==4O <=D>D<4F<>==>-?><E>>64O E<EF5<4. 

URL: http://www.zin.ru/projects/zooint_r/ 

� �D4E=4O >=<74 $>EE<<. URL: http://www.biodat.ru/db/rb/ 

 

10. �4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5 4<EF<??<=O (<>4G?O) 

 

�4<<5=>64=<5 ?><5M5=<= 4?O ?D>6545=<O 6E5E 6<4>6 GG55=>= 

45OF5?L=>EF<, ?D54GE<>FD5==>= GG55=O< ??4=><, 6 F>< G<E?5 

?><5M5=<O 4?O E4<>EF>OF5?L=>= D45>FO, E G>474=<5< ?5D5G=O 

>E=>6=>7> >5>DG4>64=<O, GG55=>-=47?O4=OE ?>E>5<= 

< <E?>?L7G5<>7> ?D>7D4<<=>7> >55E?5G5=<O 

�4D5E (<5EF>?>?>65=<5) ?><5M5=<= 

4?O ?D>6545=<O 6E5E 6<4>6 GG55=>= 

45OF5?L=>EF<, ?D54GE<>FD5==>= 

GG55=O< ??4=>< (6 E?GG45 D54?<74F<< 

>5D47>64F5?L=>= ?D>7D4<<O 6 

E5F56>= D>D<5 4>?>?=<F5?L=> 

G>47O645FEO =4<<5=>64=<5 

>D74=<74F<<, E >>F>D>= 74>?NG5= 

4>7>6>D) 

'G55=O5 4G4<F>D<< 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4: 

?D5?>4464F5?LE><= EF>?; EFG?; EF>?O >5GG4NM<EEO; EFG?LO; >4D54D4; 

>?4EE=4O 4>E>4, <<>D>E>>? <54<F<=E><= �<><54-5 64D.2 - 7 LF., 

�<>D>F>= ���-1 3 1 LF., 4>?>?=<F5?L=>5 < 6E?><>74F5?L=>5 

>5>DG4>64=<5. �>E>4 <=F5D4>F<6=4O 78" (10702070/151012/0011344/2), 

?D>5>F>D BenQMX503, G4?<=<F5?L 4x3 E/7 Della. �><?LNF5D 4?O >D<E4 

6 >><??5>F5 (�>=<F>D (��% E2350Sda<�14E>>//%<EF5<=O= 5?>> 

(CPUAMD 270 BOX, BiostarAMDS-AM3, 6GDDR1333. 1TB, DVD+/-

RW, 500w+UPS 500V�)// �?46<4FGD4 (SVEN Standart �10//�OLL (SVEN 

Standart 310// %5F56>= D<?LFD (ExeGate 3m)//�4FG >>D4 (Patch Cord 

>4F.55 2m//$>75F>4 (RJ-4). 

�D>7D4<<=>5 >55E?5G5=<5: Microsoft Windows 7 Professional;  Microsoft 

Office Standard 2016; 7-zip; WinRAR; Adobe Acrobat Reader;  STDU 

Viewer; Mozilla Firefox; Google Chrome; Kaspersky Free;   �>=EG?LF4=F 

??NE; %<EF5<4 ?><E>4 F5>EF>6OE 74<<EF6>64=<= «�=F<??47<4F.�'�»; 

�D>7D4<<4 4?O -�� «�4=> 6>?D>E>6 4?O >>=FD>?O 7=4=<=»; �4D4=F;  

45<>=EFD4F<>==O5 < GG55=>-=47?O4=O5 ?>E>5<O (6<45>?D575=F4F<O). 

$>EE<=E>4O $545D4F<O, 362025, 

$5E?G5?<>4 %565D=4O �E5F<O 4 �?4=<O, 

7. �?44<>46>47, �4FGF<=4, 4. 44-46, 

GG55=O= >>D?GE 7 7 ('� 7 7), 

D4>G?LF5F E<<<<, 5<>?>7<< < 

5<>F5E=>?>7<<, 4G4<F>D<O 308 

'G55=O5 4G4<F>D<< 4?O ?D>6545=<O 74=OF<= E5<<=4DE>>7> F<?4, 

7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, 4 F4>65 F5>GM57> 

>>=FD>?O >5GG4NM<EEO: ?D5?>4464F5?LE><= EF>?; EFG?; EF>?O 

>5GG4NM<EEO; EFG?LO; >4D54D4; >?4EE=4O 4>E>4, <<>D>E>>? 

<54<F<=E><= �<><54-5 64D.2 - 7 LF., �<>D>F>= ���-1 3 1 LF., 

4>?>?=<F5?L=>5 < 6E?><>74F5?L=>5 >5>DG4>64=<5. �>E>4 

<=F5D4>F<6=4O 78" (10702070/151012/0011344/2), ?D>5>F>D 

BenQMX503, G4?<=<F5?L 4x3 E/7 Della. �><?LNF5D 4?O >D<E4 6 

>><??5>F5 (�>=<F>D (��% E2350Sda<�14E>>//%<EF5<=O= 5?>> 

(CPUAMD 270 BOX, BiostarAMDS-AM3, 6GDDR1333. 1TB, DVD+/-

RW, 500w+UPS 500V�)// �?46<4FGD4 (SVEN Standart �10//�OLL 

(SVEN Standart 310// %5F56>= D<?LFD (ExeGate 3m)//�4FG >>D4 (Patch 

Cord >4F.55 2m//$>75F>4 (RJ-4). 

$>EE<=E>4O $545D4F<O, 362025, 

$5E?G5?<>4 %565D=4O �E5F<O 4 �?4=<O, 

7. �?44<>46>47, �4FGF<=4, 4. 44-46, 

GG55=O= >>D?GE 7 7 ('� 7 7), 

D4>G?LF5F E<<<<, 5<>?>7<< < 

5<>F5E=>?>7<<, 4G4<F>D<O 308 
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�D>7D4<<=>5 >55E?5G5=<5: Microsoft Windows 7 Professional;  Microsoft 

Office Standard 2016; 7-zip; WinRAR; Adobe Acrobat Reader;  STDU 

Viewer; Mozilla Firefox; Google Chrome; Kaspersky Free;   �>=EG?LF4=F 

??NE; %<EF5<4 ?><E>4 F5>EF>6OE 74<<EF6>64=<= «�=F<??47<4F.�'�»; 

�D>7D4<<4 4?O -�� «�4=> 6>?D>E>6 4?O >>=FD>?O 7=4=<=»; �4D4=F;  

45<>=EFD4F<>==O5 < GG55=>-=47?O4=O5 ?>E>5<O (6<45>?D575=F4F<O).  

�><?LNF5D=O= >?4EE 4?O ?D>6545=<O  E4<>EF>OF5?L=>= D45>FO 

>5GG4NM<EEO: ?D5?>4464F5?LE><= EF>?; EFG?; EF>?O >5GG4NM<EEO; 

EFG?LO; >4D54D4; >?4EE=4O 4>E>4. 

�5>DG4>64=<5: �><?LNF5DO 4?O >><?LNF5D=>7> >?4EE4 6 >><??5>F5, 

<EF>G=<>< 55E?5D55>==>7> ?<F4=<O, Ippon, >><<GF4F>D 4?O >?4EE4 D-

Link DGS-10240, <=F5D4>F<6=4O 4>E>4 78*(1702070/15112/11344/2+ 

?D>5>F>D Beno MX503. 

�D>7D4<<=>5 >55E?5G5=<5: Microsoft Windows 7 Professional;  Microsoft 

Office Standard 2016; 7-zip; WinRAR; Adobe Acrobat Reader;  STDU 

Viewer; Mozilla Firefox; Google Chrome; Kaspersky free (E6>5>4=>5 ��);  

�>=EG?LF4=F ??NE; 45<>=EFD4F<>==O5 < GG55=>-=47?O4=O5 ?>E>5<O 

(6<45>?D575=F4F<O). 

$>EE<=E>4O $545D4F<O, 362025, 

$5E?G5?<>4 %565D=4O �E5F<O 4 �?4=<O, 

7. �?44<>46>47, �4FGF<=4, 4. 44-46, 

GG55=O= >>D?GE 7 7 ('� 7 7), 

D4>G?LF5F E<<<<, 5<>?>7<< < 

5<>F5E=>?>7<<, 4G4<F>D<O 614 

 

�<5?<>F5>4, 6 F>< G<E?5 G<F4?L=O= 74?: EF>?O, EFG?LO; �� 

>5GG4NM<EEO. 

�D>7D4<<=>5 >55E?5G5=<5: Microsoft Windows 7 Professional; Microsoft 

Office Standard 2016; 7-zip; WinRAR; Adobe Acrobat Reader;STDU 

Viewer; Mozilla Firefox; Google Chrome; Kaspersky free (E6>5>4=>5 ��); 

�>=EG?LF4=F ??NE. -�%"'=<65DE<F5FE>4O 5<5?<>F5>4 ONLINE" 

https://biblioclub.ru -�% «�>=EG?LF4=F EFG45=F4»     

http://www.studentlibrary.ru -�% «.D4=F» www.biblio-online.ru 

$>EE<=E>4O $545D4F<O, 362025, 

$5E?G5?<>4 %565D=4O �E5F<O 4 �?4=<O, 

7. �?44<>46>47, &5D5F5?</�4FGF<=4, 4. 
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�><5M5=<O 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G6<64=<O 

GG55=>7> >5>DG4>64=<O: 

�5>DG4>64=<5: E?5F<4?<7<D>64==4O <555?L, EF5??46< 4?O ED4=5=<O 

GG55=>7> >5>DG4>64=<O. 

%?5F<4?L=O5 <=EFDG<5=FO, F5E=<G5E>4O 4>>G<5=F4F<O < <=65=F4DL 4?O 

>5E?G6<64=<O GG55=>7> >5>DG4>64=<O. 

$>EE<=E>4O $545D4F<O, 362025, 

$5E?G5?<>4 

%565D=4O �E5F<O�?4=<O, 

7>D>4 �?44<>46>47,G?<F4 �4FGF<=4, 4>< 

44-46, GG55=O= >>D?GE 7 7, 4G4<F>D<O 

7 307 �  

 

 

11. �<EF >5=>6?5=<O/4>FG4?<74F<< 

 

�D>7D4<<4 >5=>6?5=4. 

 

$45>G4O ?D>7D4<<4 >5EG645=4 < GF65D645=4 =4 74E544=<< >4D54DO 7>>?>7<< < 

5<>M>>?>7<< (?D>F>>>? 7 10 >F «13» 4?D5?O 2022 7.). 

�D>7D4<<4 >4>5D5=4 =4 74E544=<< E>65F4 D4>G?LF5F4 E<<<<, 5<>?>7<< < 5<>M>>?>7<< 

(?D>F>>>? 7 6/21-22 >F «25» 4?D5?O 2022 7). 

 

 


